SEMAM S 114 BFEF 2 RAENHHEHURE
SPEYEXNZEHE - SPEE - RERIEHE

iR R Ot SPEY SPHENE - BEENIE
i 8:20 (WA : B=%) 8:20 HEHE (K2 BH=%)

AB 5B AEA 5IBAEB SIBAE:C

St im . e — e — po | e e — o e o — | DERA(E=R

AiE . B=8 HmEE=6) | #F(=E=1N) | E=x%) WmEE=%) EEHR(E)

11810 A&t 10 i A 15 niE - BE S5 HiE AH 15 niE - B 10 HERRA
2 | 820 | EYpELHEIHFR HEZLERE
3 | 840 LYHER e 44 1R 8:40 g 1 &
4 | 850 8:50 B E W=
5 | 9:00 Y 2ME | EYM1ER 9:00 Z2mE Bl 21808
6 | 9110
7 | 9:20 Y 3ME | EY2ER 9:20 & 3 A 2 AR
8 | 9:25 £ 1 0O
9 | 9:40 M AE | EYM3EH 9:40 2 4 & 3B OR
10| 945 42 O
11 |10:00 S SHE | EMAER 10:00 21 5 g 4 AR
12 110:05 43 O
1310:20 6B | EYSER 10:20 £ 6 & 2 5 AR
14 110:25 £ 4 O
15| 10:40 T HE | EMeEH 10:40 2 7 & 2 6 AR
16 |110:45 £ 5 O
17 |11:00 Y 8HE | M7 EA 11:00 %) 8 & 7 O
18 |11:05 46 O
19 |11:20 4 8 A 11:20 2 8 AR
20 |11:25 47 O
21]11:40
22 111:45 £ 8 O
23 (12:00 B AR - HMER

=

B

SEAMPEHEEZS
114.6.2

(o))}




?IEFF@L&?%” BT R B
P ¥
KL Nz —
ity AL — F1e (81 2[33%[33
B 17 S 1#EN & KR & ;—;"ﬂ;
LTIV Fle |l a3c|3 34
iS5 HE 2 ¥
=t o
e %15%]‘"%2&%2{‘?%3[
3 %
PUZ
Bl B2R(32% 838
j[ E b 34
~ s
b 7] E% 1A A2 32283 %
g0 |18 5
K = IO PAE
= *% Bl |B2F|327|% 34
ke BESE
SEL RN ERICES TS O
o
BT R 3= w
b 2. ? o-’-: 3, )—J‘l
EFHEERE  F2F sippye [
BEREOHER B2 R il
4 N EERZ B =3 _
AP RBELFZ B2 Ty
APERIE 324 3 &
~ s - P - - é?fl]i
SR EER A EIRACRE AR
&=
rl_lj
B & (M2 -|(R2a msa
oo . X
=EE—Z)= B |R2%|(R2u8 |3
p | (B[] 2F [ oF | 4F | 5F [eF
R ok K ® *:9:“
A
:00~8:2 R
(8:00~8:20) ) oy R
| AP
Bien F R s B 89 B




